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101, [m-,}+m§+m$+m$+m-:qm§:]
Is equal to

(1) 603

B 508
lﬂﬂ.“’hmwummﬂ:uuamncpmm
Iy divided by 33, the remainders
.- are 21 and 28 respectively. If the
s of the two numbers is divid-
ed by 33, the remainder will be

(2) 600

314 4 16
103. The sum of two numbers s 54
and thelr HCF |s 12. Total num-

ber of such pairs of numbers 13
(i) 2 23
e 45 -

104, T 5 =14145 ia gtven, then

7-
the value of 3+ 42) correct to

two decimal places is
{11 1.59 (2] 160
(3.2.58 -9 2.57

LO8. The number, which when muld-
plied with (V3+42) gives

{JE+J]_E?},13
A1) a2 _afs
2 32 425
@ J& - 4 25 -a/2

108, If x- y=2 and »® + 1 = 20, the
valueof [x+ #2 a  -
28 i2) 38
[3 16 (4] 12

107.. Jﬁmmuﬂm

(1 3 (2 3
5 23 4 a3

108. ux=u+£~mﬂ L'r=a—l.lhm
- a3

the value of ¥ + g = 2ady? o
(1) 24 2 18
3 16 )y 12

100, [ﬁ%;mfﬁu.m]
s equel to

{1 o 2} 22

3 J5 4 a7

110. The sum bf two number s & and
their product is 16, The sum of

Ihdrm:lp::u-:a.hia
- 15
O [EJ?
- 13 23 7

111. The length of a diagonal of a
square is 162 cm. Ita area is
(1) 112.5 e
(2} 450 cm®
) ——-ﬂ:"ﬁ em?
F4) 225 cm?

113. InaAABC. AB =3 cm, AC = 4
cmi and AD bleector of < A meets
BC In D). Then , BD : DC 15,
A e:16  [@16:9
3 a4 4.3

113. A copper wire, when bent in the
form of a equara encloses a re-
. glon having area 121 cro®, If the
same wire Is bent in the form of
a circle. then the area of the re-
glon enclosed by the wire will be

[=-7]

(1] 164 cm®

2) 143 em?

9 132 cm®

(4} 123 o2
lltsmﬂnr:muul‘ﬂmadjmt

famdn.whnidmp.q.r Ita.

volume is

(M ¥pg® +qr? + p?
2 up_q+5+@fpi +?2+r=}

@ [,ﬂpﬂ + q=.+ rj}[p+q+ r]lJ
) Jpgr

118. Next term of the sequence
8, 12,9 13, 10, 14, ...... 1

) 1 {2) 15
(A 16 4} 17
118. The wrong number in the se.
©quenoe
3,5, 7.8, 13, 17. 19 1s
(1 1y 2 13
[ 9 4] 7
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AEF. Ome: dap can A1 & waber tank
) s amd anethes g oan
sl e Ml e2nk emply il
minutes. IT beth the tapa are

. Gpem, i how sy hoars wEli the

evpdy tank be fHlled 7
2 o ma2s
3 3 4 5.5

118 A B and Ciogether con conysicle
A plece of work In 30 minores. A
and B tegether can comgiéete ihe
same work in 50 minuies, ©
abone can comadete the weask e
11} G0 mismufes
(4 75 mbnales
(3} B0 minnics
(4} 150 minutes

1
119, Pean cosnplede ; of @ w12

10 days, © can con rpln:'“; AV i
the . sama '-a:h']{ in 15 sduys, %,

1
% ol the '-'-'rrrk Im 2 lays and 5,

G

witl I:red;ﬂntn mpfndcihr:mrk
frst ¥

(e [ o

H R =

120, A cirele and & sguare have sl
areas. The ratic of a aide of e
square and the radius of the cle
cle s

(1 e 12 Wi
[ i-=x Wl mel

121. The monihly arilarics of £, B pnd
Coare Inothee rallo 3 3 : 5, 0%
nendhly salary =T 12 000 e
than thad of A Livsn e aomusd
nalary is
(1] % 220000
2T 144,000
N 1A0,000
() T 240,000

I A H=1:2 BE: 0 =34
C:De@i:2mndD:F =12 15
thenA:B:C:D: Eis mqual (o

M le2:6:12;16
@zrd:e-8;18
ME:ea-8;12: 16

a8 81218
EBS W x: gy =273 then (Gx s Sl

(52~ Bg]-ia.&mur{n

[} & 3

Br-a  j-s

1 ;
= of Use work in ¥ days. Whn

§34. The diameler of the base of a
righil circular cone @ 4 om amid
s height 2,3 em. THe elant
Yeelphit of the cone i
i) Fem (2 4 ¢

A oefiom (M) Sem

223, A deafer marks his goods 20%
atawe thelr cost price, He then
#Meos st o lscount on meried
price ao that e males o proft of
1904, The rate of discoumt ks

PR
fp M=ty -
i ﬂ.‘l mﬁ-ﬂ-ﬂ

2 1,
13] HE%_ [E1] BE‘A

L#. When a shopkesper gives 10%

ifiacount on the et priceof a loy, -

s gain ls 2006, i he had given a
diseaunt of 200, his. percentage
. of gain woarld have been

Z] “3
714 - M 15
LET, Ten alngiediscount equbtalind (o
mw:dm&m
el s
[} Z4% ﬁ 25%
[ 22% e
128, A iviure of 40 Hires, of milk 2l

2
) B=
1 3

wzter cuntalng 0% ol wider, How

much waler must be added o
minke the water 20% n the new
’nluurnr'-'-'
I iGlirres  BY '?Hh'n
"*] Sllres () 3 Bbes
B v sverage ageof  hushand and
=t who were married 4 years
g0, was 25 pears. niﬂleumt:ul
ihulr marriage, The average age
af e family consisting of hus-

Frnul, wifee and a child, born dur-

3 1 inerval B30 years {0
v The age of the child s
A1 1 year
M) 2 years
Y 2.5 yoars
(4] 2 years

LN The averageilemperature of the
firsd 4 dayd of a week wae 37°C
and Lhiad af (he kast 4 days of the
woek was 41°C, If the

tempereiure of the whole week

Wit JU°C, the temperabure of the
fourth ey wmg

1) 38T (A 34.5°C
i e 4 40mC

S meer

131, The average of five numbers 1s
7. When three new I'.'Illrrlhl;f-ﬁ ar
Imcluebegt, ihr..q,tE_lrmc of the gight
nurrbeﬂ tiectmes B.5.
irag: ﬂl'thf new numbem
fy
ne ['11 I{FE

Cm [ 1.5

132, A sludent Gy (e mlcl'a\d,u al'ten
2.l numbers. While
nunshers, By mistake, he writea

" on Anemibetr with e digits inter-
shanged. Aa o resull his angger
13 1.8 leas thaw the comecl an-
aver. The difference af the digits
o tve mumber, in which by made
mistake, is
1} 2 {2 3
& 4 48

13A-By sefling s ariche for-r Wla
fan: lost 3080, Al whitl price
should be have sold 5E m gain
T . .

Temw @y m-:-
CH T 1232 @7 1300

I3 A reduction al 20% in Lhe poice
of wheat enablea Lalita to bay 5
kg more wheat for T 230, The
original rabe (En repees pe rﬁu{
wheat was
{ BRI 2 18
[ 20 ) 21

135, Amlruidha sold a bioyed: o gain
of 8%. Had it been sold for T75
nvore, the galn would have heen
14%. The eost price of the licy.
ele was
(T 1200 (37 1290
(3 T 1as0 (4 T 1500

4
138. Richa purchased an article at A

of Ite et price and sold i at 200
maere tham the fisd prics, er-h:m
predit percent was .
11} 50 12§ 40
3 30 [ 21 =

137, Aman purchased a bedahest for
T 450 ond sobd it at a.gain of
1% calculated on the sclling
priee, The selling price of Lhe
h-.rhhedws!a
()T 480 (2 T 475
3T 480 ) T 500

138, A atudent scored 32% marks in
sriente Suehdcts oul of 300, Mow
ek ahiould be score In language
paapers out of 20047 he s to get
overall $5% marks * -
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130, Tws traing of lengths 137 metre
uﬂlﬂmmmm
hr respuctively towsrds oach oth-
er oo papaliel tracdes. In how
many seconds will they cross
each other 7
(1) 30 .24
=12 4 10

1. A reduction of 25% in the price
10 kg mare- rice for T 600. The
rechsced par kg price of rice i
T @ra
reduced by 25%. In ‘order to re-
stare the ariginal price, the new
i must be Incoeased by

g
mes @l

143, In how many years will the sim-
ple interest on & sum of money
be equal to the principal at the

m"m%ﬂ‘ per annm P

4 s ,
e )8

144. A sum of money doubles ftecif at

Years., many years

will i become eight times of it-
sclf with the same rate 7
[ 30 t2) 45

148, The value of a property decreas-
If its present value 1s T
4,11,540. what was its value 3
years ago ?
{1} T 4.50,000

& T 4,60,000
3 T 4.75.000
) ¥ 4.80,000

1498, The speed of a boat tn'still water
ia 10 kmy/hrr. It covers upstream
a distance of 48 km 1 § hours,
The speed {in km/hr) of the
sireain =

{35 ) =
M 35 W oa
Divestivns (147-180) 1 The
chart, given here, shows the hnﬂﬁ.::
tribution of a village
Study the pie-chart and snswer the
questions based on It.

Inhabted land

M
=3
[

Wet land

147. The ratio of the waste lasxd t the

culttvated land is

M4:3 @3:2

1 W31
M8 Wht percent of total land is used

for culttvation 7

()24 2 25

1% 50 (4 80

0. IF the total aures of the village is
% 7200 acres, the total s of the

{9 1400 acres
180. The land used for roads Is whnt
percent of the inhalvited land 7

m ‘“g tn 48

of

= ) 30
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Answer: Numerical Aptitude

101 4 126 1
102 4 127 1
103 2 128 3
104 1 129 2
105 3 130 3
106 2 131 3
107 2 132 1
108 3 133 4
109 4 134 1
110 1 135 2
111 4 136 1
112 3 137 4
113 1 138 2
114 4 139 3
115 1 140 4
116 3 141 3
117 1 142 4
118 2 143 3
119 2 144 2
120 2 145 4
121 2 146 1
122 4 147 1
123 4 148 2
124 2 149 4
125 4 150 3




